Certainly! Here's the English translation of the provided text:

Topic: Risk Identification
The goal is to train a regressor that can learn to determine the probability of whether "X is a risk to company Y" for a given pair (X, Y), or whether there is no risk present.
For the geographical task, there is a dataset available from my dissertation. For the risk identification task, there were data, but we cannot use them since they belong to my previous employer. As mentioned, a few thousand sentences can be annotated once the task is understood.
Objective: Specifically, I will investigate how a regressor can estimate the probability of whether "X represents a risk to company Y" for a given pair (X, Y), or whether no risk is present.
The probability is an estimation made by the regressor regarding how likely it is that a given sentence expresses a risk relation for the mentioned company. The regressor cannot determine whether the risk claimed in the news is true, as that would require training with the entire world; therefore, the truthfulness of the news is assumed.
Data Collection
We need to gather and annotate new data for this topic. First, please read the two articles multiple times—thoroughly. Next, you need to find data. I advise you to look for freely available English news corpora that have already been used by other researchers (search for "news corpora" on Google Scholar, for instance).
You can then use a tool like Flair (https://github.com/flairNLP/flair) to annotate proper nouns, place names, and organization/company names, and then extract those sentences that contain an organization or company.
You should then randomly extract 15,000 sentences from this set. We should then have an online meeting to review the data and discuss the next steps.
The task is to determine whether each individual sentence mentions a risk AND whether the risk relates to the mentioned company or not.
First, you need to search for a freely available English news corpus (or painstakingly compile one yourself from the web—please include the source).
If you have a news report like:
Do Kwon, who owns a 92 percent stake in the company, is currently in custody in Montenegro for using falsified documents to leave the US in March.
Terraform Labs, the company behind the stablecoins TerraUSD and Luna, which collapsed the cryptocurrency industry in 2022, has filed for bankruptcy in the United States.
The Singapore-based company filed a Chapter 11 bankruptcy protection document on Sunday at a court in Delaware.
You can 1. tokenize and 2. use a named entity recognizer like SpaCy to identify organizations (if you are unfamiliar with this, read the relevant chapters in "Introduction to Speech & Language Processing" on these topics).
Example:
|||Do Kwon, who owns a 92 percent stake in the company, is currently in custody in Montenegro for using falsified documents to leave the US in March. |Terraform Labs||Terraform Labs, the company behind the stablecoins TerraUSD and Luna, which collapsed the cryptocurrency industry in 2022, has filed for bankruptcy in the United States. |||The Singapore-based company filed a Chapter 11 bankruptcy protection document on Sunday at a court in Delaware.
Then you can manually annotate the phrases expressing risks as follows:
|||Do Kwon, who owns a 92 percent stake in the company, is currently in custody in Montenegro for using falsified documents to leave the US in March. |Terraform Labs|bankruptcy|Terraform Labs, the company behind the stablecoins TerraUSD and Luna, which collapsed the cryptocurrency industry in 2022, has filed for bankruptcy in the United States. ||Chapter 11 bankruptcy|The Singapore-based company filed a Chapter 11 bankruptcy protection document on Sunday at a court in Delaware.
Finally, you must decide for each sentence whether it expresses a risk of the specified type for the specified company or not:
0|||Do Kwon, who owns a 92 percent stake in the company, is currently in custody in Montenegro for using falsified documents to leave the US in March. 1|Terraform Labs|bankruptcy|Terraform Labs, the company behind the stablecoins TerraUSD and Luna, which collapsed the cryptocurrency industry in 2022, has filed for bankruptcy in the United States. 0||Chapter 11 bankruptcy|The Singapore-based company filed a Chapter 11 bankruptcy protection document on Sunday at a court in Delaware.
Your task is then to train a model that can generate column 1, given the rest, i.e., the classification decision "Is X a risk to Y?" with a yes (1) or no (0).
To proceed systematically, you need to establish rules for yourself and any helpers on how to make the decision, preferably with positive and negative examples. These rules are best written as a short table that fits on one page, so it can be kept next to the keyboard during annotation.
Data Compilation
· New York Times archive API: Download historical data on all articles published from 2017 to 2023 related to "Business" (news_desk == "business"), material_type: News.
· Select the first company name from the keywords (filter for keywords that contain: Corp, Corporation, Inc, INC, Limited, Ltd, LTD).
· Omit empty abstract, empty keywords.
· Tokenize abstract into sentences.
Annotation Guidelines
· Open the R code. Load the file "dataset_tokenized.RData".
· The review process starts in line 154. You must execute the above function once before starting the process. The function randomly samples one observation (company name and sentence).
· Task: Assess whether the sentence expresses a risk related to the company.
· Definition: Risk is defined as any statement within the sentence that suggests potential harm, danger, negative impact, or adverse consequences for the named company. Look for keywords or phrases that may indicate risk, such as "risk," "threat," "challenge," "vulnerability," "exposure," "uncertainty," "impact," "downturn," "decline," "crisis," etc.
· Pitfalls: Exclude statements that do not indicate any potential harm or adverse effects on the named company. These may include neutral observations, positive developments, or general industry trends. (e.g., "Crisis averted," "Downturn halted").
· Consistency and Objectivity: Strive for consistency in evaluating similar types of statements across different sentences. Base assessments on factual information and objective analysis rather than personal opinions or biases.
The aim is to classify whether a sentence expresses a relation, such as "Kodak may go bankrupt," where "bankruptcy" represents a risk type and "Kodak" is the company exposed to this risk. This is a binary relation, and the goal is to identify whether such a relation is expressed or not.
For example, the sentence "If things continue like this, Kodak might cease to exist" expresses an existential risk for Kodak, so the annotation would be "Kodak;Existence;1;". On the other hand, a sentence like "Kodak invented the digital camera, without which mobile phones wouldn't exist" mentions "Kodak" and "existence" but does not express a risk relation. Hence, it would be annotated as "Kodak;Existence;0;".
This systematic approach involves manually annotating a large number of sentences to train a classifier that can identify these risk relations automatically.
To achieve good results, you should aim to annotate around 10,000 sentences, based on the experience with similar tasks in the English language. The process involves filtering sentences that mention companies using tools like SpaCy, then manually identifying those that also mention a risk.
Finally, your annotated dataset should have four columns: Company name; Risk type; Binary classification (1 or 0); and the sentence itself.

